| Unita1 Theze is 1o comperesion

"= 600% the correct answer:

. |
B . 1-Amal is (short - shorter-shortest) than Mona.

i E . | 2-Sara is the (good-better-best) student in the class.
l

- 3- There are (so many - so much - so) cars that we couldn't park
| E || here.

| @ - 4-He is (so- such - to) fast that he won the race.

|@ "| 5--it was (so - such - because ) a nice weather that you spent
'\ the whole day on the beach.

[B—Do as shown between brackets: \

1- a-Marry has (the bad ) mark in the class. ceeeeeereseneeeen. . {COPrect }
b- Elephants are (big ) than bears
2- English / French {combine by using {easy}

& .............................................................................................. /

\ , » \
A- Write the opposite:

%
1- Fast X oo, 2- popular X .......ccoveeuerennee. (Q@
ié

B-Write the superlative form: W
1- smart: .............. 2- intelligent: .........ccccooueneee é

- : -1 i : / )
- _ J/

ﬂWr‘i’re the correct word under each picture: \

diamond - desktop - oryx - shark - falcon

oooooooooooooooooooooooooooooooooooooo

E.T: Batool Al -kulaib/




